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1. F&o ‘ﬁlX3+y3—l3 AEh(8:27)z 2> 250 ( )

2. K f(X) & - F#c® f(x)=sinx+cosx+1 > B] f(X) 2 &=~ EE %] B2 fr
= ( )

3. 3 g(X) 5 - Sl g(x)—j

Fg'(0)= ( )

4. F(xy) = f(x+4y)+g(x—4y) - 1{—: ( )
yy

5. ]l\|lmz ( )

n—nid (n+1t) 5n+t)

|2x—1|—|2x+1]|
X

6. Evaluate Iing =( ).
7. 1f X+ =6xy, find W= ).
dx
8. Find the point (a,b) on the parabola y®=2x that is closest to the point
L4). (ab)=( ).

9. Evaluate the improper integral LO xe* dx = ( ).

10.The interval of convergence of the series Z(_l)n %
n=1
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X" sm1 if x£0
2.For n=0,1,2,---, f (x)=

0 if x=0
(1) Find n sothat f, (x) iscontinuousat x=0.
(2) Find n sothat f (x) isdifferentiableat x=0.

3. Prove tan (1 - xj =cot (Z + xj
4 4
4. Differentiate \/l+3/§

5. Prove that the function |x| is not differentiable at x =0, but |x|2 is differentiable
at x=0.

6. Find the value of ¢ which minimizes the maximum of the function
f(x)= ‘xz +c‘ on the interval [-1,1].
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T —t? t X2 _
.#»tILr?O(te joe dx) = (

=
N—r

2. 2% ¥ A y=In(cosx) > By EXG[O,%]L%?\% —( )

3

3 W =y B x= DR AR R X WIS 2 e A

Ko #BKeiEgl » 3 Fir> HEs ( )
A j— COS X _
© T sinx(sin? x+1)° ( )
5. Evaluate Ilm( 1 + 1 oot L j:( )
' == Jnvn+1 \/ﬁ\/n+2 Jnn+3 Jnvn+n '
6. Let f(x)=x""".Then f'(x)=( ).
dZ
7. If x*+y*=16, find =( ).
8. Evaluate the indefinite integral j—x+4dx=( ).
X(x* +4)
. . (-3)"x" .
9. The interval of convergence of the series IS :
: Z:(; Vn+1 ( )
10. The saddle points of f(x,y)=@+xy)(x+y) are ( ).
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1 Afegfht R4
(1) r=3+3cosO pr I8 r=3+3sin@ *F AT = 1% 2B G A

(2) r=4-3c050 &0 =" 7 A % CEERES S
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0 3ﬂ + 0
1

@) ; n! nz;‘(ln n)""

3. Prove that the series z ) is convergent if p>1 and divergent if
~n(Inx
p<1.
XZe—l _ Xe—l
4. Find ——dx
0 Inx

5. Prove isinh‘1 X = 1 .
dx X2 +1

6. Find the area of the surface generated by revolving the curve x=t3, y =15t
(0<t<1) about x-axis.
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